CONTROLE DE MATHS BAC PRO

2 points par équation

1°/x* -4x+4=0

5°/x? +6x+10=0

2°/2x* -7x+3=0

6°/x*-36=0

3/-x*-x+12=0

7°/-2x°> +x+6=0

9°/x* —=5x+4=0

1C°/1Cx* - 22x+4=0

n°l

4°/x* +8x+15=0

8°/2x2-5x-3=0

1°/A=4% -4x1x4=0

2°/A=7%-4x2x3=25

3°/A=1% -4x(-1)x12=49

4°/ N =82 -4x1x15=4
5°IA= 62 -4x1x10=-4

6°/x* =36 donc

7°IA=1> -4x(-2)x6 =49

8°/ A = (-5)2- 4x2x(-3)=1

9°/A = (-5~ 4x4=9

10°/ A =222 -4x10x4=324

CORRECTION DU CONTROLE 1 BAC PRO n°l
: 4
A=0 1 solution : x :5:2
A>0 2 solutions: x1=7_5=0,5 xzzﬂzg
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A>0 2 solutions: xl:—;:3 x2:127:—4
A>0 2 solutions: xl=ﬁ=—5 x2='8+2=_3
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A<O pasdesolution
2 solutions : x=6 et =-6
A>0 2 solutions: x1:_1_7:2 2__1+7=—l5
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; - +
A>0 2 solutions: x1=5 l—1et 2——541—1,5
A>0 2 solutions: x:5;23:1 et x_5izg:4
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A>0 2 solutions:x1=22 18=—i=-0,2 2_22 18_2
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